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1. You create a file with text and images and decide that you want to put the text on its
own layer, without changing it's position on the artboard. What steps can you take to

move your text to a new layer?

o Select the text with the Selection tool and then choose Locate Object from the Layers
panel menu.

o Select the text with the Selection tool and then choose Collect in New Layer from
the Layers panel menu.

o Select the text with the Text tool and then choose Release to Layers (Sequence) from
the Layers panel menu.

o Select the text with the Text tool and then choose Release to Layers (Build) from the

Layers panel menu.

2. Why does the top point of this star appear different from the other points?

o The stroke has been outlined.
o The stroke has a corner type of Bevel Join.
o The star is an open path with two overlapping points at the top.
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o The Limit value in the Stroke panel is less than the stroke width.

3. Which image adjustment is not available as an adjustment layer?

o Curves
o Shadows/Highlights
o Levels

o Hue/Saturation

4. You would like the columns in a chart to cover the whole length of the category

axis. What option would you choose?

o In the Graph Type dialog, choose Category Axis and set the Tick Marks option
to Full Width.

o In the Graph Type dialog, under Graph Options, set the cluster width to 100 in
the Options section.

o In the first row of data, type 100% in each cell corresponding to the category
columns.

o Select the columns with the Direct Selection tool and use the Scale tool to

modify the width.
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